Qi t [];
(* AUTOVALORI ED AUTOVETTORI *)
(» Esenpio 1. %)

a={{1, 2, -1}, {4, 1, -1}, {2, 0, 1}};
id=IdentityMatrix[3];

Mat ri xFor m[a]

Ei genval ues[a]

Ei genvectors[a]

1 2 -1
4 1 -1]
2 0 1
{3, -3, v3}
1 /3 3 3 1 3 3 V3
(s - gy th by W

al=a-axid;

Mat ri xFor m[al]
eq =Det [al] =0
eval = Sol veleq, A]
1-2 2 -1
4 1-x -1
2 0 1-2x

~9+32+322-23=0
{{)&»3}, {/\»fﬁ}, {A»\/?}}

eval [[1]]
eval [[2]]
eval [[3]]

{A >3}
{)k% —\/?}
{)&e\/?}

X = {x1, x2, x3};

sysl=Dot [(al /. eval [[1]]), x] =0
sol 1 = Sol ve[sysl, x]1[[1]1]

soll/. x3-2

{(-2%X1+2X%x2-%X3, 4x1-2x%x2-x3, 2Xx1-2x3} =

Solve::svars: Equations may not give solutions for all "solve" variables. >

{xl - X3, X2 > :ﬁ}

{x1 -2, x2 -3}
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sys2 =Dot [(al /. eval [[2]]), Xx] ==0;
sol 2 = Sol ve[sys2, x][[1]]
sol2/. x3-1

Solve::svars: Equations may not give solutions for all "solve" variables. >

{XZ%—% (-3-%?) X3, x1—>—% (1+ﬁ) xs}

{X2—>; (3+ﬁ), xle%(—l—\/S_)}

sys3=Dot [(al /. eval [[3]]), X] =0;
sol 3 = Sol ve[sys3, x]1[[1]]
sol3/. x3-1

Solve::svars: Equations may not give solutions for all "solve" variables. >

{XZ%—% (73+ﬁ) X3, x1»é (Lﬁ) xs}

{xZa%(S—x/?), xle%(—1+\/3_)}

(* Secondo esenpi 0 *)

C ear [a];

a= {{01 1}7 {_1v O}}v
id=IdentityMatrix[3];
Mat ri xFor m[a]

Ei genval ues[a]

0 1
(% o)
{ji _1}
(* Terzo esenpi o =)
C ear [a];
a={{1, 1}, {-1, 2}};
id=IdentityMatrix[3];

Mat ri xFor m[a]
Ei genval ues[a]

iy
2

(*» Quarto esenpi o *)

3+iV3), %(371\/?)}

Cl ear [a];

a={{1, 1, 0}, {-1, 2, 0}, {0, O, 3}};
id=IldentityMatrix[3];

Mat ri xFor m[a]

Ei genval ues[a]

1 10
-1 2 0
0 0 3

fa, %(3+jﬁ), (3-iv3)}

N| =

(* Quinto esenpio x)
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Cl ear [a];

a={{1, 2, 3}, {-1, -2, -3}, {4, 5, 1}};
id=IldentityMatrix[3];

Mat ri xFor m[a]

Ei genval ues[a]

1 2 3
1 -2 -3
4 5 1

{jﬁ, -ivV2, o}



